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Halloween Subtraction

Solve the following word problems.

There are 900 pumpkins in a field. If 345 of them
are rotten and need to be thrown away, how many
pumpkins are left?

A candy shop made 525 halloween candies. They
sold 367 candies on the first day. How many
candies are left in the shop?

A halloween store had 950 masks. They sold 500
masks on halloween day. How many masks are left
in the store?

In a halloween party, there were 260 balloons. 125
balloons popped. How many balloons are left?

There are 150 candies in a bowl. After a halloween
party, there are only 64 candies left. How many
candies were eaten during the party?

A halloween store had 450 hats. They sold 212 hats.
How many hats are left in the store?

A halloween shop had 340 wands. They sold 111
wands. How many wands are left in the store?

A haunted fair had 1000 visitors on halloween
night. 289 visitors left the fair after midnight. How
many visitors remained in the fair?

9 A halloween store has 999 costumes. They sold 678
costumes. How many costumes are left in the
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